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General Instructions :

(i)
(ii)

(iii)

(iv)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections —A,
B, C and D.

Section A contains 8 questions of 1 mark each, which are multiple choice
type questions, Section B contains 6 questions of 2 marks each, Section C
contains 10 questions of 3 marks each and Section D contains
10 questions of 4 marks each.

Use of calculators is not permitted.

Qs A
SECTION A

J97 G&IT1 T8 Th I9% J97 1 3% H1 8 | J97 G&IT 18 8 H Icd% ¥97 & fo7@ IR
fabeq 130 71 &, fo78 @ Fac7 v @&l 8 | @8t [dbe giv |

Question numbers 1 to 8 carry 1 mark each. For each of the question numbers

1to 8,

Select

1.

30/2/3

four alternative choices have been provided, of which only one is correct.
the correct choice.

T Tia-Nie el < v a1y Soen W, FH-8-60 T o 91" 8 6 grikesdrn
3

@
®
(©) %
(D) %



Two different coins are tossed simultaneously. The probability of getting

at least one head is

@
(B) é
(©) 2
o <

2. TH I H B g o W 1 8 25 T il G&AN 3fhd 7 | I H | Igosd Th
TS fIeRreTt TR | 39 HIE W Afhd TEw & 2 91 3 o 9 fawifoa g1
YTRrehdT 2

(A) %

(B) 235
(©) %
™ 2

A bag contains cards numbered from 1 to 25. A card is drawn at random
from the bag. The probability that the number on this card is divisible by
both 2 and 3 is

(A) %

(B) 235
(©) %
(D) %
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Ife fopelt Feater @Y 6 Ha1E, YH W U T 35eh TR H AG1E H /3 AT
7, O 39 99 I 1 AW &

(A 30°
(B) 60°
(C)  45°
(D)  75°

If the height of a vertical pole is v/3 times the length of its shadow on the
ground, then the angle of elevation of the Sun at that time is

(A)  30°

(B)  60°
(C) 45°
(D)  75°

Y femgai (0, 4), (0, 0) AT (3, 0) It By w1 it 2

(A 7++5
B 5

(C) 10

(D) 12

The perimeter of a triangle with vertices (0, 4), (0, 0) and (3, 0) is

(A 7++5
B 5

(C) 10

D) 12

40 Tt x 22 Tt HT TH JFARBR HATH i I HI AIg W 40 T SR H
Tsh @I S SHIET TR | oo shi B (T ) 8

A 35
B 7
80
() -
(D) 5



A rectangular sheet of paper 40 cm x 22 cm, is rolled to form a hollow

cylinder of height 40 cm. The radius of the cylinder (in cm) is

A 35
B 7
80
(&) 3
(D) 5

6.  3TRid 1 H, I o 90T Tk =gyl ABCD 36 YR Tl 71 3 fob 3Heh! Yo
AB, BC, CD a9 AD, o ! $a3: P, Q, R 91 S W &3f &tdl & | afe
AB=x 3, BC =7 ¥ft, CR = 3 Ot 92m AS = 5 9t &, a1 x I 94 &

D R
C
S
Q
A P B
ST 1
(A) 10
B) 9
) 8
D) 7
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In Figure 1, a quadrilateral ABCD is drawn to circumscribe a circle such
that its sides AB, BC, CD and AD touch the circle at P, Q, R and S
respectively. If AB = x cm, BC =7 cm, CR = 3 ecm and AS = 5 cm, find x.

D

R
C
S
Q
A P B
Figure 1

(A) 10
(B)
(C)
(D)

7. GHIE A4 7,28, /63, ... AT 9T B

A 70
(B) 84
©) 97
(D) V112

The next term of the A.P. /7,28,63, ... is

A 70
(B) 84
©) 97
(D) 112
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8. T Hehgd gui ohl BATE 5 WHI 9T 3 THY & | 9IS I I 39 Al ohl @aTs, Al
BT g4 H T w2, (S F) B

A 4
B 5
(C 8
(D) 10

Two concentric circles are of radii 5 cm and 3 cm. Length of the chord of

the larger circle, (in cm), which touches the smaller circle is

A 4
B) 5
C 8
(D) 10
Qs
SECTION B

T GEIT9 G 14 TF Jdb J97 &2 3F 5 /

Question numbers 9 to 14 carry 2 marks each.

9. IR 2 H, XP A XQ, %5 O a1 I W T M@ folg X ¥ @i 718 3§ &=
W@ 2 | ARB I1 3l T 7 T @1 7 S g9 &l R | & w7 | fag
#HIT % XA + AR = XB + BR.
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In Figure 2, XP and XQ are two tangents to the circle with centre O,
drawn from an external point X. ARB is another tangent, touching the
circle at R. Prove that XA + AR = XB + BR.

Figure 2

10. 3Tpfd 3 H, OABC UH Jd & Fqaiw 7, fSweh fsm 7 &ft 3 | =i

OD = 4 &0t &, A1 BTIfha & 1 SThel ST AT | [n:%aﬁﬁm

A
T T \\\\\B
D
\\J\J
\\\\\\\J\
0 —'C
STTHIT 3

30/2/3 8



In Figure 3, OABC is a quadrant of a circle of radius 7 cm. If OD = 4 cm,
find the area of the shaded region. [Use & = %]

Arrr—
I
] e
el
\\
\J\
\\\
\\\\
\\J\
o) C
Figure 3

11. x % fau ga Ko
V3x2-2J2x-243 =0
Solve for x :

V3x2-242x-2J3 =0

12. < fi=-fie gl st U |1 IS T | SF1 9Tl W STW 3Teh! T AMHA 10

HEEIRIPENINIGEEAS I

Two different dice are rolled simultaneously. Find the probability that
the sum of numbers appearing on the two dice is 10.

13. Tag T fop g0 & forel =amd o6 R o @it T8 T0ef e 99T’ 3t & |

Prove that the tangents drawn at the ends of any diameter of a circle are
parallel.

14. T GHIR I<1 o 9YH n Yel 1 IMHA 4n2 + 2n 8 | 39 GHIG I 1 ndl 4
I hIfST |

The sum of the first n terms of an A.P. is 4n? + 2n. Find the n' term of
this A.P.

30/2/3 9 P.T.O.



Qs |
SECTION C

v G&IT 15 @ 24 7% JAF o7 & 3 3% 8 |
Question numbers 15 to 24 carry 3 marks each.

15. 3Thfd 4 H, T AAHR & ABCD, frad AB = 20 9t 2, &% & iR @ ©
U BIYS AED %1 TR 8, &l AE = 9 9fi 91 DE = 12 3 § | g fR
BC @I =T et aTgt shl 3T Teh 31efgd ST T & | STifehd &1 I &6

I T | [ = 3-14 S

)i

371 4

In Figure 4, from a rectangular region ABCD with AB = 20 cm, a right
triangle AED with AE = 9 cm and DE = 12 cm, is cut off. On the other
end, taking BC as diameter, a semicircle is added on outside the region.

Find the area of the shaded region. [Use n = 3-14]

A B

i

Figure 4

30/2/3 10



16. 3THfd 5 H, ABDC, 28 &l 5531 a1ei Uk g9 &1 IqAT¥ & a1 BC &l =6
A T g BEC Wiel 1 8 | ®Ihd HFT 1 &% A(A T |

In Figure 5, ABDC is a quadrant of a circle of radius 28 cm and a semi
circle BEC is drawn with BC as diameter. Find the area of the shaded

region. [Use nt = %]

Figure 5

17. fag P, Q, RA« S, famgati A(1, 2) 91 B(6, 7) ! e act {@m@vs i uid
A T # o e 2 | famgati P, Q @ R % Qe F1d hifT |

Points P, Q, R and S divide the line segment joining the points A(1, 2)

and B(6, 7) in 5 equal parts. Find the coordinates of the points P, Q
and R.

18. Ueh HATR G o JH 7 Ui 1 AMTHA 633 aUT 3T 7 UGI ! AMHA 161
? | 39 THIGL A 1 2897 Ug {14 HINT |
The sum of the first 7 terms of an A.P. is 63 and the sum of its next
7 terms is 161. Find the 28" term of this A.P.

30/2/3 11 P.T.O.



19.

20.

21.

22.

23.

24.

30/2/3

Teh YFATehR d2, TS YR bl =a1d 14 H) a1 =15 24 Wi 8, & s | 571
=ISTS T HUST AT T | T 25 Ifd HeX bl T W, HUST & 1 T F1d

@ﬁrql[n=27—2?’ﬁﬁm]

A 5 m wide cloth is used to make a conical tent of base diameter 14 m and
height 24 m. Find the cost of cloth used at the rate of ¥ 25 per metre.
[Use n = %]

Tsh Agehl 19 O W, 18 Tft 1w G qen 32 oft =S aTefl, Ush SeHTehi
el B3 T GIefl Hieh Teh ATl &l FAmt 2 | A 39 werarehr &b i
T8 24 At g A1 3Th! TR 918 omeTa o T TAM b FTd I |

A girl empties a cylindrical bucket, full of sand, of base radius 18 cm and
height 32 cm, on the floor to form a conical heap of sand. If the height of
this conical heap is 24 cm, then find its slant height correct upto one
place of decimal.

T Y B Ush Tty sl AR foudia feemsti @ on @ § | yhmw-waw %
R 8 37 SRSl % ITEHHT I 30° qA 45° 7 | ARG FE % = A gl
100 &Y, o ThRI-EqW T Harg [0 IR | [V3 = 1-732 <fifig)

Two ships are approaching a light-house from opposite directions. The

angles of depression of the two ships from the top of the light-house are
30° and 45°. If the distance between the two ships is 100 m, find the
height of the light-house. [Use +/3 = 1-732]

Ife fgama Tl 3x% + ax — 2 = 0 &1 T o 1 &7, a1 fgama e
a(x® + 6x) —b = 0 T T &, Al b I AH AG HIWT |

If 1 is a root of the quadratic equation 3x2 + ax — 2 = 0 and the quadratic
equation a(x? + 6x) — b = 0 has equal roots, find the value of b.

5 T s o U g9 W UH 9 w99 @ S, S 9 60° % I ©®
! & |

Draw a pair of tangents to a circle of radius 5 cm which are inclined to
each other at an angle of 60°.

p % 98 WM W@ Hifwe foe faw fog Bp + 1, p), (p + 2, p—5) N
(p+1,—p)HElt 2 |

Find the value(s) of p for which the points Bp + 1, p), (p+2,p—-5) and
(p + 1, —p) are collinear.

12



T UE T
SECTION D

J97 G&IT 25 G 34 T b G971 & 4 3F & |

Question numbers 25 to 34 carry 4 marks each.

25. U ool o e 1t AR & 91g | ITIT HI0 60° 7 qAT HHER % M I
femt < uTg ST 3TeHA iU 30° B | Af WAR H =g 40 W 7, A Fawd H
g A AT | Jguu Hueuet % AR gt oied areh fmdh A e
FH-U-FHH 100 W B =Y | SAT8Y foh Ik fomet o =TS TGW0T HIIGUS]
%I QU R @ A AE | 39 T H FRE o i @i TR 2

The angle of elevation of the top of a chimney from the foot of a tower is

60° and the angle of depression of the foot of the chimney from the top of
the tower is 30°. If the height of the tower is 40 m, find the height of the
chimney. According to pollution control norms, the minimum height of a
smoke emitting chimney should be 100 m. State if the height of the
above mentioned chimney meets the pollution norms. What value is
discussed in this question ?

26. TH g9 % UieTd U =Sqys @ w2 | fag fifse 5 aqds i agm
13T % ANTHA THH & |

A quadrilateral is drawn to circumscribe a circle. Prove that the sums of

opposite sides are equal.

27. Tag3l A(-10, 4) T B(-2, 0) AW a1t W@EUE H Aeg-fo=g P, fomgati
C(-9, —4) AT D(—4, y) I THaH a1 T@rave W e 8 | 98 I I1d
HIe few foeg P t@m@ug CD ! dfedl & | y o1 7F | 31 HiT |

The mid-point P of the line segment joining the points A(-10, 4) and

B(-2, 0) lies on the line segment joining the points C(-9, —4) and D(-4, y).
Find the ratio in which P divides CD. Also find the value of y.
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28.

29.

30.

31.

32.

30/2/3

Il 7 Tft At T TATHR ScAleh o Ueh Beleh bl 7L shl 3TN & HIE T Th
JTMATRR TEET T ThR ST 7T & Toh STLTITT T U™ o o Teh foh <k
w%|mﬁmmmmmwu[n=%aﬁm

A hemispherical depression is cut out from one face of a cubical block of
side 7 cm, such that the diameter of the hemisphere is equal to the edge

of the cube. Find the surface area of the remaining solid. [Use n = %]

afe forel wiat 31 % YUW n WS w1 AMEA S, &, q fag hifw
S30:3(Szo—810).

If S, denotes the sum of the first n terms of an A.P., prove that
S30 = 3 (Sgp — S10)-

24 TMft 34TS 1 FW A Geil °1g HI Th dledl, Th AP o (&9h o HR hl
3 TSEeh et aen Sl it Rl <kt fosamd e 7 | dem 14 w9 § | 9@
Hifore

(i) STt Sl GU WA Tl I T A |

(i)  STedl Sl I B ot g1g <hl =Tet 1 &% |

in = 22 <Ay

A metallic bucket, open at the top, of height 24 c¢m is in the form of the
frustum of a cone, the radii of whose lower and upper circular ends are
7 cm and 14 cm respectively. Find :

1) the volume of water which can completely fill the bucket.
(11) the area of the metal sheet used to make the bucket.

[Use n = %]
7

7% 31 ShUNTA TSI o Tt <l Tl 637 B | I8 IO HTd HIFT |

The sum of the squares of two consecutive multiples of 7 is 637. Find the
multiples.

forg T fop o1 o el forg ox wast T, ©a¥i foimg ® ST arel! B o o
Bl |

Prove that the tangent at any point of a circle is perpendicular to the
radius through the point of contact.

14



33.

34.

30/2/3

e Tqwft S (piggy bank) W, 50 s @ T &, T 1h =E fH g, T 2H
g T4 2 991 T 5 & <@ s 3 | Ife funfi d = Zaemt Ieer =9 W +I8
T T i & ofom qonfies 8, @ SiReeal §ia i 7o o' i gan
I5E2)

(i) 50 9 & B0 |

(i) T 19 A%k qod 1 FAT |

(iii) ¥ 5% A eI ST BT |

(iv) ¥ 1379@1 T 231 8T |

A piggy bank contains hundred 50 p coins, fifty ¥ 1 coins, twenty I 2
coins and ten ¥ 5 coins. If it is equally likely that one of the coins will fall

out when the bank is turned upside down, find the probability that the
coin which fell

(1) will be a 50 p coin.
(i1) will be of value more than ¥ 1.
(ii1) will be of value less than ¥ 5.

(iv) willbea ¥ 1or T 2 coin.

3 Tx+1 4 5hx — 3 :11;x¢§,—l
bx — 3 Tx +1 5 7
Solve for x :

3 Tx+1 4 5x — 3 :11;x¢§,—1
bx -3 7x+1 5 7

15



